## Partnering with

# **Aims College Preparatory Charter High School**

Proposal

May 9, 2024



NWEA® is pleased to present the following price proposal to Aims College Preparatory Charter High School. We are grateful for the opportunity to further serve your students and staff, and we look forward to collaborating with you to finalize a scope of work that considers your unique and complex needs.

#### **Recommended Products and Services**

NWEA® drives growth and delivers the insights that help students learn, teachers teach, and leaders lead. Our proven assessment solutions, customized professional learning, and industry-leading research keep you ahead of the curve as times and standards change.





The purchase of a MAP assessment license includes the following features and services: standard online and interactive reports; downloadable data file reports; implementation services; technical support services; and access to NWEA Professional Learning Online.

#### **MAP Growth**

Our computer adaptive interim assessments provide precise, actionable insights that offer educators a clear view of where students are in their learning and the data to determine which supports they need to help them grow academically, whether they're working on, above, or below grade level.

Classroom teachers count on the immediate, trustworthy data in MAP® Growth™ to support instructional decision-making, whether they're scaffolding instruction, creating learning groups, or monitoring growth over time.

Building-level administrators use MAP Growth to illuminate school-wide needs across grades and subjects and then translate these insights into critical decisions that empower teachers, support students, and improve learning outcomes.

District leaders leverage reporting tools, national norms, and linking studies to set short- and long-term goals, identify and reinforce best practices, and even project proficiency on state summative, ACT, and SAT tests.

MAP Growth assessments are scored using a consistent, cross-grade vertical scale that assesses achievement according to standards-aligned content. The RIT scale is the most stable, mature scale in the industry. Like centimeters on a ruler, it measures in equal intervals, regardless of a student's grade or performance—and it remains stable over time. This gives you an accurate measure of student performance, regardless of whether they're performing on, above, or below grade level. Scores from repeated administrations are used to measure growth over time.



MAP Growth: Available assessments and grade coverage

		(Standard) MAP Growth K-12			Optional Add-on	
	Assessment Type	Mathematics	Reading	Language Usage	Science	
	Growth		K–12	2–12	2.42	
English	Screening	K–12	K-12	2-12	2–12	
	Skills Checklist	K-2	K-2	_	_	
Spanish	Growth	K-12	K–8		-	
Оранізн	Screening	11-12	10-0			
Course	Growth	Algebra I & II     Geometry			Life science (for NGSS only)	
specific (English only)	Screening	Integrated     Math 1, 2 & 3	_	_		

Test Type	Purpose	Approx. Length	Score in Reports
Growth	Measure growth, inform instruction, and assess strategy	43 items/about 45–55 minutes	RIT score (subject and instructional areas, also called "goals"), shown in most reports Also, Quantile® and Lexile® score
Screening	Quickly place incoming students in grades 2 and above (but for more precision, use MAP Growth)	20 items/about 20 minutes	RIT score (subject level only)  Available in these reports: Student Progress, Class, Grade, District Summary  Also, Lexile scores
Skills Checklist	Get details about a certain skill as a pre- or post-test for a unit you teach	11–53 questions/about 8–60 minutes, based on skill	Percent correct, shown only in Screening and Skills Checklist reports

You can choose to go with the standard MAP Growth K-12 package that includes math, reading, and language usage, but many educators decide to add on the optional MAP Growth for Science package.

**(Standard) MAP Growth K–12:** These growth assessments in math, reading, and language usage can be administered three times per school year, along with an optional summer administration. Math and reading assessments are available in both English and Spanish.

The package includes one type of assessments for K–2 students and another type for students in grades 2–12. The K–2 assessments include features designed to engage young learners, such as practice tests, audio instruction, and a visual interface. There are also K–2 assessments that can be administered as frequently as needed, including before and after instruction or intervention. For students in upper grades—from advanced second-graders to high school students—the package includes growth tests, screening tests, and course-specific tests for high school math.

**(Optional Add-on) MAP Growth for Science:** Designed for students in grades 2–12, this set of growth assessments covers life science, earth and space science, and physical science. MAP Growth for Science also includes course-specific tests for high school science. MAP Growth for Science can be administered three times per school year, along with an optional summer administration.



## map Reading Fluency

#### **MAP Reading Fluency**

MAP® Reading Fluency™ is a computer adaptive benchmarking, progress monitoring, and screening assessment for students in grades pre-K–5.

The package includes assessments in oral reading fluency, literal comprehension, and foundational reading skills that can be group-administered three times per school year as benchmark tests and as frequently as needed for progress monitoring. Benchmark tests are available in both English and Spanish. The package also includes a dyslexia screener for students in grades K–3.



#### **Recommended for Aims College Preparatory Charter High School**

#### AIMS K12 College Prep- MRL Enrollment 24-25 1 Year

Product	List Price	Unit Price	Quantity	Total Price	Item Discount
MAP Growth K-12	\$14.50	\$13.50	1,300	\$17,550.00	-\$1,300.00
Virtual (2-hour session, up to 30 participants) MAP Growth Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Student Goal Setting	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Essential Reports for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00

Quote Discount -\$1,300.00

Quote Subtotal\$21,330.00Estimated Tax\$0.00Grand Total\$21,330.00

#### AIMS K12 College Prep- MRL Enrollment 24-25 3 years

Product	List Price	Unit Price	Quantity	Total Price	Item Discount
MAP Growth K-12	\$14.50	\$13.05	3,900	\$50,895.00	-\$5,655.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Essential Reports for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
MAP Growth Foundations Online Annual License	\$1,000.00	\$1,000.00	2	\$2,000.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Student Goal Setting	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00

Quote Discount -\$5,655.00

Quote Subtotal \$56,675.00
Estimated Tax \$0.00
Grand Total \$50, 75.00

#### AIMS K12 College Prep- MRL & MRF Enrollment 24-25 1 Year

Product	List Price	Unit Price	Quantity	Total Price	Item Discount
MAP Growth K-12	\$14.50	\$13.50	1,300	\$17,550.00	-\$1,300.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Essential Reports for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Student Goal Setting	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Reading Fluency-Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Coach for MAP Reading Fluency	\$11.00	\$11.00	650	\$7,150.00	-\$0.00

Employer ID#: 93-0686108

05/09/2024

121 NW Everett Street, Portland, OR 97209 Tel: 503.624.1951 | Fax: 503.639.7873 | www.nwea.org

Product	List Price	Unit Price	Quantity	Total Price	Item Discount
MAP Reading Fluency: Essential	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Reports with Coach for Teachers (2					
hr virtual)					
MAP Reading Fluency: Introduction	\$630.00	\$630.00	1	\$630.00	-\$0.00
to Coach (1 hr virtual)					
MG and MRF Basics: Proctoring	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30					
participants)					
MAP Reading Fluency for Coach	\$9.00	\$9.00	650	\$5,850.00	-\$0.00

Quote Discount -\$1,300.00

Quote Subtotal\$38,740.00Estimated Tax\$0.00Grand Total\$38,740.00

### AIMS K12 College Prep- MRL/MRF Enrol. pt 3 Years

Product	List Price	Unit Price	Quantity	Total Photo	unt
MAP Growth Foundations Online Annual License	\$1,000.00	\$1,000.00	2	\$2,000.00	-\$0.00
MAP Reading Fluency Foundations Online Annual License	\$1,000.00	\$1,000.00	2	\$2,000.00	-\$0.00
MAP Reading Fluency for Coach	\$9.00	\$9.00	1,950	\$17,550.00	-\$0.00
Coach for MAP Reading Fluency	\$11.00	\$11.00	1,950	\$21,450.00	-\$0.00
MAP Reading Fluency: Essential Reports with Coach for Teachers (2 hr virtual)	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
MG and MRF Basics: Proctoring Virtual (2-hour session, up to 30 participants)	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Reading Fluency-Basics for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
MAP Growth K-12	\$14.50	\$13.05	3,900	\$50,895.00	-\$5,655.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Essential Reports for Teachers	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
Virtual (2-hour session, up to 30 participants) MAP Growth- Applying Reports: Student Goal Setting	\$1,260.00	\$1,260.00	1	\$1,260.00	-\$0.00
MAP Reading Fluency: Introduction to Coach (1 hr virtual)	\$630.00	\$630.00	1	\$630.00	-\$0.00

Quote Discount -\$5,655.00

 Quote Subtotal
 \$102,085.00

 Estimated Tax
 \$0.00

 Grand Total
 \$102,085.00

#### **Contact Information**

This non-binding proposal is intended to provide an overview of NWEA® products and services and present a recommendation for Aims College Preparatory Charter High School. To request a formal sales order, please contact your account representative.

Today's date:	05/09/2024	Prepared by:	Andrea Comer
Prepared for:	Aims College Preparatory Charter High School	Email:	andrea.comer@nwea.org
	Christopher Ahmad	Phone:	